

THE EQUIVALENCE BETWEEN MANN AND IMPLICIT MANN ITERATIONS

B. E. RHOADES AND ŞTEFAN M. ŞOLTUZ

(communicated by R. Verma)

Abstract. We shall prove the equivalence between the convergences of Mann and implicit Mann iterations dealing with various classes of non-Lipschitzian operators.

1. Introduction

Let X be a real Banach space, B be a nonempty, convex subset of X , and $T : B \rightarrow B$ be an operator. Let $u_0, x_0 \in B$. The following iteration is known as Mann iteration, see [3]:

$$u_{n+1} = (1 - \alpha_n)u_n + \alpha_n T u_n. \quad (1)$$

For $z_0 \in B$, the Ishikawa iteration [2], is defined by

$$\begin{aligned} z_{n+1} &= (1 - \alpha_n)z_n + \alpha_n T y_n, \\ y_n &= (1 - \beta_n)z_n + \beta_n T z_n. \end{aligned} \quad (2)$$

The sequences $\{\alpha_n\} \subset (0, 1)$, $\{\beta_n\} \subset [0, 1)$ satisfy

$$\lim_{n \rightarrow \infty} \alpha_n = \lim_{n \rightarrow \infty} \beta_n = 0, \quad \sum_{n=0}^{\infty} \alpha_n = \infty. \quad (3)$$

For the rest of the paper, we suppose that there exists $(I - tT)^{-1}$, for all $t \in (0, 1)$ such that the following iteration, known as implicit Mann iteration (see [11]), is well defined:

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_{n+1}. \quad (4)$$

REMARK 1.1. In order to have a well defined sequence $\{x_n\}$, the existence of $(I - \lambda T)^{-1}$, $\forall \lambda \in (0, 1)$, is crucial. Take $X = \mathbb{R}$, $Tx = x^4$, $\alpha_0 = 1/3$, $x_0 = 4$, to see that there are no real values for x_1 that satisfy (4), i.e. $x_1 = (1 - \alpha_0)x_0 + \alpha_0 x_1^4$.

Mathematics subject classification (2000): 47H10.

Key words and phrases: Mann iteration, implicit Mann iteration, uniformly pseudocontractive map, uniformly accretive map.

The map $J : X \rightarrow 2^{X^*}$ given by $J(x) := \{f \in X^* : \langle x, f \rangle = \|x\|^2, \|f\| = \|x\|\}, \forall x \in X$, is called *the normalized duality mapping*. It is easy to see that

$$\langle y, j(x) \rangle \leq \|x\| \|y\|, \forall x, y \in X, \forall j(x) \in J(x). \tag{5}$$

For sake of simplicity we shall denote by Ψ the following class:

$\Psi := \{\psi \mid \psi : [0, +\infty) \rightarrow [0, +\infty)$ is a strictly increasing map such that $\psi(0) = 0\}$.

DEFINITION 1.2. Let X be a real Banach space. Let B be a nonempty subset of X . A map $T : B \rightarrow B$ is called *uniformly pseudocontractive* if there exist maps $\psi \in \Psi$ and $j(x - y) \in J(x - y)$ such that

$$\langle Tx - Ty, j(x - y) \rangle \leq \|x - y\|^2 - \psi(\|x - y\|), \forall x, y \in B. \tag{6}$$

Taking $\psi(a) := \psi(a) \cdot a, \forall a \in [0, +\infty), (\psi \in \Psi)$, we get the usual definition of a ψ -strongly pseudocontractive map. Taking $\psi(a) := \gamma \cdot a^2, \gamma \in (0, 1), \forall a \in [0, +\infty), (\psi \in \Psi)$, we get the usual definition of a strongly pseudocontractive map. If $\gamma := 0$, then we get the definition of a pseudocontractive map.

The convergence to a fixed point of (4), dealing with strongly respectively uniformly pseudocontractive maps was studied in [11] and [9]. Moreover, examples in which Mann iteration does not converge, while implicit Mann iteration converges, and vice versa, were given in [10].

A reasonable conjecture is that the Ishikawa iteration methods satisfying (3) and the corresponding Mann iterations are equivalent for all maps for which either method provides convergence to a fixed point. In an attempt to verify this conjecture, in a series of papers [4], [5], [6], [7], [8] we have shown the equivalence for several classes of maps. We shall prove here the equivalence between Mann and implicit Mann iteration for the most general class of operators (6).

We recall the following result from [1].

LEMMA 1.3. [1] *If X is a real normed space, then the following relation is true*

$$\|x + y\|^2 \leq \|x\|^2 + 2 \langle y, j(x + y) \rangle, \forall x, y \in X, \forall j(x + y) \in J(x + y). \tag{7}$$

2. Sequences supplied by inequalities

LEMMA 2.1. *Let $\{a_n\}$ be a nonnegative bounded sequence which satisfies the following inequality*

$$a_{n+1} \leq a_n - 4\alpha_n \psi(a_{n+1}) + 4\alpha_n (\alpha_n + M\sigma_n), \forall n \geq n_0, \tag{8}$$

where $M > 0, \epsilon_n, \sigma_n \geq 0, \forall n \in \mathbb{N}, \lim_{n \rightarrow \infty} \alpha_n = \lim_{n \rightarrow \infty} \sigma_n = \lim_{n \rightarrow \infty} \epsilon_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$. Then $\lim_{n \rightarrow \infty} a_n = 0$.

Proof. Since $\{a_n\}$ is bounded, there exists $m > 0$ such that: $a_n \leq m, \forall n \in \mathbb{N}$. Set $M := \max\{m, M\}$.

Denote $a := \liminf a_n$. We shall prove that $a = 0$. Suppose that $a > 0$. Thus there exists an $N_1 \in \mathbb{N}$ such that

$$a_n \geq \frac{a}{2}, \forall n \geq N_1.$$

Because $\lim_{n \rightarrow \infty} \varepsilon_n = 0$, there exists an $N_2 \in \mathbb{N}$ such that

$$\sigma_n \leq \frac{\psi\left(\frac{a}{2}\right)}{3M}, \alpha_n \leq \frac{\psi\left(\frac{a}{2}\right)}{3}, \forall n \geq N_2.$$

Set $N_0 := \max\{N_1, N_2\}$. Using $a_n \geq \frac{a}{2}$ we get $-\psi(a_{n+1}) \leq -\psi\left(\frac{a}{2}\right)$, which leads to

$$\begin{aligned} a_{n+1} &\leq a_n - 4\alpha_n\psi(a_{n+1}) + 4\alpha_n(\alpha_n + M\sigma_n) \\ &\leq a_n - 4\alpha_n\psi\left(\frac{a}{2}\right) + 4\alpha_n(\alpha_n + M\sigma_n) \\ &\leq a_n - 4\alpha_n\psi\left(\frac{a}{2}\right) + 4\alpha_n\left(\frac{\psi\left(\frac{a}{2}\right)}{3} + M\frac{\psi\left(\frac{a}{2}\right)}{3M}\right) \\ &= a_n - \frac{8}{3}\alpha_n\psi\left(\frac{a}{2}\right). \end{aligned}$$

Thus, we have $\alpha_n \frac{8}{3} \psi\left(\frac{a}{2}\right) \leq a_n - a_{n+1}$, which implies that $\sum \alpha_n < \infty$, contradicting (3). Thus there exists a subsequence $\{a_{n_j}\}$ of $\{a_n\}$ such that $\lim_{j \rightarrow \infty} a_{n_j} = 0$. Fix $\varepsilon > 0$. Then there exists an $n_3 \in \mathbb{N}$ such that

$$a_{n_j} < \frac{\varepsilon}{4}, \forall j \geq n_3.$$

Also, there exists an $n_4 \in \mathbb{N}$ such that

$$\sigma_n < \frac{\psi\left(\frac{\varepsilon}{4}\right)}{2M}, \alpha_n < \frac{\psi\left(\frac{\varepsilon}{4}\right)}{2} \forall n \geq n_4.$$

Set $n_0 := \max\{n_3, n_4, N_0\}$. We have $a_{n_j+k} < \frac{\varepsilon}{4}, \forall k > 0$. Otherwise, for a fixed k we have $a_{n_j+k} < \frac{\varepsilon}{4}$ and $a_{n_j+k+1} \geq \frac{\varepsilon}{4}$, which leads to the following contradiction:

$$\begin{aligned} \frac{\varepsilon}{4} &\leq a_{n_j+k+1} \leq a_{n_j+k} - 4\alpha_{n_j+k}\psi(a_{n_j+k+1}) + 4\alpha_{n_j+k}(\alpha_{n_j+k} + M\sigma_{n_j+k}) \\ &\leq a_{n_j+k} - 4\alpha_{n_j+k}\psi\left(\frac{\varepsilon}{4}\right) + 4\alpha_{n_j+k}\left(\frac{\psi\left(\frac{\varepsilon}{4}\right)}{2} + M\frac{\psi\left(\frac{\varepsilon}{4}\right)}{2M}\right) \\ &= a_{n_j+k} < \frac{\varepsilon}{4}, \end{aligned}$$

and $a_{n_j+k} < \frac{\varepsilon}{4}, \forall k > 0$, so that $\lim_{n \rightarrow \infty} a_n = 0$. \square

REMARK 2.2. Let $\{a_n\}$ be a nonnegative bounded sequence which satisfies the inequality

$$a_{n+1} \leq \frac{(1 - \alpha_n)^2}{1 - 2\alpha_n} a_n - \frac{2\alpha_n}{1 - 2\alpha_n} \psi(a_{n+1}) + \frac{2M\alpha_n}{1 - 2\alpha_n} \varepsilon_n, \forall n \geq n_0, \tag{9}$$

where $\varepsilon_n \geq 0, \forall n \in \mathbb{N}, \sum_{n=0}^{\infty} \alpha_n = \infty$, and $\lim_{n \rightarrow \infty} \alpha_n = \lim_{n \rightarrow \infty} \varepsilon_n = 0$. Then $\lim_{n \rightarrow \infty} a_n = 0$.

Proof. Note that (9) is equivalent to

$$\begin{aligned} a_{n+1} &\leq \frac{(1 - \alpha_n)^2}{1 - 2\alpha_n} a_n - \frac{2\alpha_n}{1 - 2\alpha_n} \psi(a_{n+1}) + \frac{2M\alpha_n}{1 - 2\alpha_n} \varepsilon_n \\ &= a_n - \frac{2\alpha_n}{1 - 2\alpha_n} \psi(a_{n+1}) + \frac{2\alpha_n}{1 - 2\alpha_n} (\alpha_n + M\varepsilon_n) \\ &\leq a_n - 4\alpha_n \psi(a_{n+1}) + 4\alpha_n (\alpha_n + M\varepsilon_n). \end{aligned}$$

Note that $\frac{1}{1 - 2\alpha_n} \leq 4, \forall n \geq n_0$. Set $\sigma_n = \varepsilon_n$, to obtain (8); and by Lemma 2.1 to reach the above conclusion. \square

3. Main result

THEOREM 3.1. *Let X be a real Banach space, B be a nonempty, convex subset of X , and let $T : B \rightarrow B$ be a uniformly continuous and uniformly pseudocontractive map with $T(B)$ bounded. Let x^* be the fixed point of T . If there exists $(I - tT)^{-1}$, for all $t \in (0, 1)$, the sequences $\{\alpha_n\}, \{\beta_n\}$ satisfy (3), and $\{u_n\}, \{x_n\}$ are bounded, then the following are equivalent:*

- (i) *the Mann iteration (1) converges to x^* ,*
- (ii) *the implicit Mann iteration (4) converges to x^* .*

Proof. The uniqueness of the fixed point comes from (6). Suppose that $\lim_{n \rightarrow \infty} u_n = x^*$. Using

$$\lim_{n \rightarrow \infty} \|x_n - u_n\| = 0, \tag{10}$$

and

$$0 \leq \|x^* - x_n\| \leq \|u_n - x^*\| + \|x_n - u_n\|$$

we get $\lim_{n \rightarrow \infty} x_n = x^*$. Conversely, suppose that $\lim_{n \rightarrow \infty} x_n = x^*$. Then

$$0 \leq \|x^* - u_n\| \leq \|x_n - x^*\| + \|x_n - u_n\| \rightarrow 0,$$

leads to $\lim_{n \rightarrow \infty} x_n = x^*$. The proof is complete if we prove relation (10).

Set $M = \sup_n (\|u_n\|, \|Tu_n\|, \|x_n\|)$. Observe that $M < \infty$. Using (1), (4) and (5) we get

$$\begin{aligned} \|x_{n+1} - u_{n+1}\|^2 &= \|(1 - \alpha_n)(x_n - u_n) + \alpha_n(Tx_{n+1} - Tu_n)\|^2 \\ &\leq (1 - \alpha_n)^2 \|x_n - u_n\|^2 + 2\alpha_n \langle Tx_{n+1} - Tu_n, j(x_{n+1} - u_{n+1}) \rangle \\ &= (1 - \alpha_n)^2 \|x_n - u_n\|^2 + 2\alpha_n \langle Tx_{n+1} - Tu_{n+1}, j(x_{n+1} - u_{n+1}) \rangle \\ &\quad + 2\alpha_n \langle Tu_{n+1} - Tu_n, j(x_{n+1} - u_{n+1}) \rangle \\ &\leq (1 - \alpha_n)^2 \|x_n - u_n\|^2 + 2\alpha_n \|x_{n+1} - u_{n+1}\|^2 - 2\alpha_n \psi(\|x_{n+1} - u_{n+1}\|) \\ &\quad + \alpha_n \|Tu_{n+1} - Tu_n\| \|x_{n+1} - u_{n+1}\|. \end{aligned}$$

Thus, there exists $n_0 \in \mathbb{N}$ such that for all $n \geq n_0$ we have $\alpha_n < \frac{1}{2}$, and hence,

$$\begin{aligned} \|x_{n+1} - u_{n+1}\|^2 &\leq \frac{(1 - \alpha_n)^2}{1 - 2\alpha_n} \|x_n - u_n\|^2 - \frac{2\alpha_n}{1 - 2\alpha_n} \psi(\|x_{n+1} - u_{n+1}\|) \\ &\quad + \frac{2M\alpha_n}{1 - 2\alpha_n} \|Tu_{n+1} - Tu_n\|. \end{aligned}$$

Note that

$$\lim_{n \rightarrow \infty} \|Tu_{n+1} - Tu_n\| = 0 \tag{11}$$

holds independently of (i) or (ii), because

$$\|u_{n+1} - u_n\| = \alpha_n \|-u_n + Tu_n\| \leq 2M\alpha_n \rightarrow 0, \quad n \rightarrow \infty. \tag{12}$$

Observe that $\lim_{n \rightarrow \infty} \|u_{n+1} - u_n\| = 0$ and the uniform continuity of T lead to (11). Denote by $a_n := \|x_n - u_n\|$ and use Remark 2.2, to obtain $\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \|x_n - u_n\| = 0$. \square

4. Further results

Let I denote the identity map.

DEFINITION 4.1. The map $S : X \rightarrow X$ is called *uniformly accretive* if there exist the maps $\psi \in \Psi$ and respectively $j(x - y) \in J(x - y)$ such that

$$\langle Sx - Sy, j(x - y) \rangle \geq \psi(\|x - y\|), \quad \forall x, y \in X. \tag{13}$$

Taking $\psi(a) := \psi(a) \cdot a, \forall a \in [0, +\infty)$, ($\psi \in \Psi$), we get the usual definition of a ψ -strongly accretive map. Taking $\psi(a) := \gamma \cdot a^2, \gamma \in (0, 1), \forall a \in [0, +\infty)$, ($\psi \in \Psi$), we get the usual definition of the strongly accretive map. If $\gamma := 0$, then we get the definition of an accretive map.

REMARK 4.2.

1. The operator T is a (uniformly, ψ -strongly, strongly) pseudocontractive map if and only if $(I - T)$ is a (uniformly, ψ -strongly, strongly) accretive map.

2. Let $T, S : X \rightarrow X$, and $f \in X$ be given. A fixed point for the map $Tx = f + (I - S)x, \forall x \in X$ is a solution for $Sx = f$, and vice versa.

3. Consider (1) and (4) with $Tx = f + (I - S)x$ and x^* the solution of $Sx = f$, in order to obtain the equivalence result for the (uniformly, ψ -strongly, strongly) accretive.

4. Let $f \in X$ be given. If the operator S is accretive, then $f - S$ is a strongly pseudocontractive map.

5. Let $T, S : X \rightarrow X$. A fixed point for the map $Tx = f - Sx, \forall x \in X$ is a solution for $x + Sx = f$ and conversely.

6. Consider (1) and (4) with $Tx = f - Sx$, and x^* the solution of $x + Sx = f$, in order to obtain the equivalence result for the accretive case.

REFERENCES

- [1] S. S. CHANG, Y. J. CHO, B. S. LEE, J. S. JUNG, S. M. KANG, *Iterative approximations of fixed points and solutions for strongly accretive and strongly pseudo-contractive mappings in Banach spaces*, J. Math. Anal. Appl. **224** (1998), 149–165.
- [2] S. ISHIKAWA, *Fixed points by a new iteration method*, Proc. Amer. Math. Soc. **44** (1974), 147–150.
- [3] W. R. MANN, *Mean value methods in iteration*, Proc. Amer. Math. Soc. **4** (1953), 506–510.
- [4] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *On the equivalence of Mann and Ishikawa iteration methods*, Int. J. Math. Math. Sci. **2003** (2003), 451–459.
- [5] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *The equivalence of Mann iteration and Ishikawa iteration for non-Lipschitzian operators*, Int. J. Math. Math. Sci. textbf2003 (2003), 2645–2652.
- [6] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *The equivalence between the convergences of Ishikawa and Mann iterations for asymptotically pseudocontractive maps*, J. Math. Anal. Appl. **283** (2003), 681–688.
- [7] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *The equivalence of Mann and Ishikawa iteration for a Lipschitzian ψ -uniformly pseudocontractive and ψ -uniformly accretive maps*, Tamkang J. Math. **35** (2004), 235–245.
- [8] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *The equivalence between the convergences of Ishikawa and Mann iterations for asymptotically nonexpansive in the intermediate sense and strongly successively pseudocontractive maps*, J. Math. Anal. Appl. **289** (2004), 266–278.
- [9] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *The equivalence of Mann and Ishikawa iteration for ψ -uniformly pseudocontractive or ψ -uniformly accretive maps*, Int. J. Math. Math. Sci. **2004**:46, 2443–2452.
- [10] B. E. RHOADES AND ȘTEFAN M. ȘOLTUZ, *The convergence of an implicit mean value iteration*, Int. J. Math. Math. Sci. **2006** ID 68369.
- [11] ȘTEFAN M. ȘOLTUZ, *The backward Mann iteration*, Octogon Math. Mag. **9** (2001), 797–800.

(Received March 29, 2007)

B. E. Rhoades
Department of Mathematics
Indiana University
Bloomington
IN 47405-7106
U.S.A.

e-mail: rhoades@indiana.edu

Ștefan M. Șoltuz
Departamento Matemáticas
Universidad de los Andes
Carrera 1 No. 18 A-10
Bogota, Columbia

“T. Popoviciu” Institute of Numerical Analysis
P.O. Box. 68-1
400110, Cluj-Napoca
Romania
e-mail: smsoltuz@gmail.com